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038 042 () 038 052 (3t) 038 06Y (=) 038 07Y (=) 038 08Y(2)
128t 128t - 12HE ke 12et 1d2e4Hu

- &I X O S 1M 32 (2.5.6) [(1.5.6) g2/ (1.2.5.6.10.13.15.
(5.9.16.18) S2oE= 122H2IH012 [(1.9) 16)
o AT ARE2 [(1.5.6.10.16.18)  [(1.2.5.6.9.13) CAQEOINES | - 1H=2RI(9)
) e (5.6.13) THZHZRE | - 1=ZRIH(5.6.9) | (5.6.17) 1YL=
sStgal Fores S 1RE2E(5.6) [=(5.6.9.10) THHZ= 21 X1(9) - lstE 2y (2.5.6)
1Q2IEM/0AEH - 122A022S |- 1HOI2S2LA |(5.6.10.15.16.18) | - 122(2)
C/M2(1.2.5.6) |(1.5.6.13.18) H2) =2 RI(9) COIEY MM S
126£2((9) - 12E£91(9) ISSENE(12) |- 1Z22HIRE(2) [(1.2.5.6.12)
oKl (13) 1512 A
- | AEIA T BH(5)
B2 2% | =ma
=[N - o orgy of oty of oty oora oforat
mou o ISEES
Ol Xl (keal) 724.33 724.33 7.7 671.6 675.7 757 .1 779.8 1,015.4
EH43512(g) 481 84.2 78.5 97.1 109.4 100.5
SEESIE)) 18.92 18.92 17.7 31.9 34.2 34.7 33.0 38.8
NERE) 34.3 24.3 23.6 26.4 22.5 52.0
HIEF2IA(E RAE) | 162.05 229.13 328.7 665.7 771 211.0 11.9 577.6
El0F2! (mg) 0.31 0.37 0.7 0.4 0.8 0.5 0.9 0.8
212 =244 (ng) 0.36 0.43 0.8 0.6 0.4 1.4 0.4 1.3
HIEF2IC(mg) 24.87 31.72 69.7 248.0 8.5 24.4 8.6 59.0
22 (mg) 242 .25 290.31 324.0 133.7 117.0 406.8 229.6 733.2
=2 (ng) 3.71 4.79 4.9 5.2 4.9 5.3 2.1 7.1
 oUA = ARAAHFEY +10%, TAANE ©IE(55~65%) ¢ T A (7~20%) ¢ A HH(15~30%)
x 1g% oYX (kcal)& ©r3E 4, @ld 4, x4 9kcal 2 4t

= 9d 4B AdRE FRAA Jge] Fwdu,

gy z7] AR

AR, 02,9, 03,9, 04.993F, 05.t1F, 06., 07.3159], 08.4], 09.4]%-, 10. 1511417], 11.5%0}, 12.EulE | 13.0}

AR 14,35, 15,9317, 16.4317], 17.% 101 8. &2MF (=, AE, T3 £3), 19.%
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DI S1200|1getz el CAEZXZAIDN [ - 15018
- TAIEDI0ILHS (1.2.5.6.12.13.16. | - 1IH&(5.9.15) |El g HEE =S
(1.2.5.6) 18) C1EUESME(XH[(1.2.5.6.10.12.13. | (5.6.9)
1200|019 = 1ADDM K| &8)(1.2.5.6.12) 16) CESRAHHE
(16) £)(5.6.16) - 10t S 2 1R/ D) (1.5.9)
1S 241320l 13 EUE= (5.6.10.12.13.18) |(1.2.5.6.13) -12019/E22¢e
(5.6.10.12.13.15.1((5.9) g E 2| LS 0HAAD [/ZE(XS
6.18) - 1HIgetSs (1.2.5.6.10.12.15. | (2.5.6.13.16) )(5.6.13)
=2t -1&0ILel= |(1.5.6.10.13.15.16|16) CISEZE(E - 152l
St Al oforat FE(XE .18) < 1B XI(9) )(5.6.9.17.18) (5.6.13.15)
)(5.6.13.17) clAEA S MEIRNHE CIBUHHEAAE | - 1HIS=2XI(9)
R =eies (2.5.6.10.12.15.16 | (2.13) (1.2.5.6.10.12.15. | - 12 D/X=20101=
(1.5.9.12) ) 16) (ede4)(13)
IS222HET | - 1F2AX(9) 18SZE0(ANE8
01(1.2.5.13) 1IN ERER (M )(5.6.9.13
- THHEAXI(9) &) (5) 128t sets
SIS (™
)(2)
S 1R2Y/LEE
(X2)(5.6)
el 2 FEp
HokA orat Horey oz oores ozt
= ey | 4y | g
MR (keal) | 724.33 | 724.33 6.0 747 .8 865.9 794.2 780.5 651. 1
B4312(g) 51.9 56.6 103.2 106.0 128.6 101.6
e (g) 18.92 18.92 18.6 36.3 32.3 39.5 32.1 37.0
XIg(g) 29.5 40.5 35.4 23.5 16.0 9.9
HIEIRIA(zE RAE) | 162.05 | 229.13 142 1 17.4 161.5 194.4 103.0 134.3
EI ORI (mg) 0.31 0.37 0.6 0.6 0.9 0.5 0.6 0.5
2l Z 21wl (ng) 0.36 0.43 0.8 0.5 0.7 0.8 1.3 0.7
HIE+2IC(mg) 24.87 31.72 54.9 13.8 58.8 45.7 77.6 78.6
245 () 242.25 | 290.31 274.3 177.0 333.9 434.5 252.5 173.4
s = (mg) 3.71 4.79 4.4 3.4 5.7 4.1 4.2 4.8
# o= AFAHFHAFY] £10%, T/d0= w5 8hE(55~65%) ¢ S (7~20%) A (15~30%)

*

1gd YA (kcal)= ©F3E 4, dilz 4 AW kcal 2 ZHAF
* 7 Hod AFHES €odiEH g8 97X dSFY Fa Y.

=
01.%H5, 02.9-%, 03.#2, 04.9%, 05. m% 06.9, 07.31250], 08.4], 09. %, 10.5 X327, 11.2%0}, 12. EvulE, 13.0}
FAbR, 4.5, 16,59 27], 16.4317], 17.239], 18.5711%(%, AE 23 23, 19.3F
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- 1RSE DR E-=ls 1A D E-=ls S1ADI|IBLEY
(1.2.5.6.10.13.18) | - 12 20l=0H= (1.2.5.6.9.10.13. 1| - 1ATH 20| (5.6.16)
C1BEZ (2.5.6.9.10.13.16) |5.16.18) (1 2.5.6.10.13.15. | - 1B XH=E=
ES (1.5.6.9.10.17.18) Ot A& -10ILRsS 16) (1.5.6.9)
D24l ofet CIASHRARE .6.12.13.15.18) |(1.2.5.6.9.13) -1HSSUSR - 1202(13)
1Sl LENHIXA S IAFZAEO0I(5.6)[(1.5.6) 10U DFESS
(1.5.6.13.15.18) .5.6.9.13.17) CAXEE(1.2.5.6) | - TMRMA/2AA[XI21(1.2.5.6.15)
< 182 X1(9) S 12EED1(9) <12 ED((9) (1.2.5.6.9.13) <12 ED1(9)
1ZFA2(13) - 188HHERY| (1.2.5) -1gol3Zeole | - 182 XI(9) - 10R(2)
(13) - 13rx32(2.5.6)
=R 2 FEP
o oF A oforet ooy of ok o oret of okey
=< Lo SE e
0l 4 Xl (kcal ) 724 .33 724.33 -0.3 674.6 802.3 815.8 710.7 606.3
B4 3 2(g) 50.4 71.2 121.0 93.7 87.1 80.3
ez (g) 18.92 18.92 18.5 39.3 31.6 39.6 31.0 24.6
X (g) 31.1 24.9 20.3 32.2 26.5 20.3
HIEF2IA(L8 RAE) 162.05 229.13 162.5 218.4 149.2 112.1 295.7 37.1
El0t21 (mg) 0.31 0.37 0.4 0.6 0.4 0.3 0.4 0.5
22 Z2tE! (mg) 0.36 0.43 0.6 0.6 0.7 0.5 0.8 0.4
HIEF2IC(mg) 24.87 31.72 1.7 129.1 18.4 35.6 14.8 10.6
25 (mg) 242.25 290.31 298.9 168.8 360.9 242 .9 634.8 87.2
3 2 (mg) 3.71 4.79 4.3 4.8 5.4 4.0 5.8 1.7
* A= AFAAZE] £10%, V= ©she(55-65%) ¢ A (7-20%) ¢ A% (15~30%)

*

1g9 oA (kcal) &= ©3tE 4, @A 4 A8 9kcal = FHAF
T Hd AF S €odRY S8 dSHe] AAJYT).
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